)*’ ? Do NOT use a calculator!

Nice and easy

88

+ 4

X6

- 11

+ 65

Double it

- 22

Half it

_14

+39

Answer =

Bit more to it

o7

Challenging

-3

26

X 4

_24

+ 13

25% of the answer

square the answer

+ 85

5/7 of the answer

70% of the answer

Double the answer

X 4

Answer =

+ 14

Answer =




)e’
Cﬁ> Nice and easy

38

88 +4=22

22X 6 =132

132 - 11 =12

£ 12 + 65 = 77

N'77 + 77 = 154

154 - 22 = 132

132 + 2 = 66

66 -14 =52

52+ 39=91

Answer = 91

Bit more to it

Challenging

o7

26

o7 ~3 =19

26 + 34 = 60

190X 4 =76

60-8 =52

76 - 24 = 2

52 + 4 =13

52 +13 =4

13 + 85 =98

4X4=16

16 X 9 = 144

08 +7=14
14 X5="70

144 - 87 = 57

0.7 X 70 = 49

57 +39 =096

49x2 =098

96 = 8

98 x 4 = 392

Answer = 12

302 + 14 = 28

Answer = 28




